2945 Combo Flush Bolt ASSA ABLOY

The global leader in

ROCKWOOD"® door opening solutions
NOT TO SCALE 23/4" Mortise
! 2 1‘/8" - 5/16"  —=i=— 120" Mortise Tem plate
o/ ;
eI k| LR2Ehb i

—+.
Frame Lip Strike J 4

(two) #8 x 3[4" - . Effective date: July 23,2015
All Purpose Screws —bdls 1) 28"~ ' Supercedes: All Previous
with Rawl Plugs Top Bolt Head Guide
(three) #10 x 1" Sheet NOTI?: Rockwood reserves
; 6 1116 Mortise Metal Screws the right to make product

changes and is not respon-
sible for obsolete template
errors. To ensure your
...................... — template is current, please
.................. 57 SEEDEBEE b a——

® ® e 1" Mortise www.rockwoodmfg.com or

call us at 800-458-2424

—— = 3/4"Backset

114" 1/g" Mortise

|®(®}-

: sy

- - Mortise

: @ = TOP BOLT SHOWN
g
*i - NOTE: When two point engaging

| i with latching action is required, it
: 1/8" Mortise — is recommended that one
, constant self latching flush bolt be
- Sfl‘l"’lg’)#s X 3é4 used with one auto flush bolt. Self
UTPOSE SCTEWS = . latching flush bolt should be
&woh)'#S-SE}Z x1f2"  2"Mortise installed at top of door.
n achine Screws

Mortise

Page 10f2

Rockwood Manufacturing Company

Rockwood, Pennsylvania 15557

Phone: (800) 458-2424 « Fax: (800) 922-9212
www.rockwoodmfg.com e rockwoodorders@assaabloy.com

Copyright © 2015, Rockwood Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.
Reproduction in whole orin part without the express written permission of Rockwood Manufacturing Company is prohibited. T-2945 CFB - 7/1 5



ASSA ABLOY is the global

leader in door opening solutions,
dedicated to satisfying

end-user needs for security,
safety and convenience

2945 Combo Flush Bolt (cont.)

ASSA ABLOY

M 1t (two) #8 x 3[4" All Purpose Screws
OMtSE  (two) #8-32 x 12" Machine Screws
N
11y |- 1 2" Mortise
P . " .
: :3‘73':3 {  ls"Mortise— BOTTOM BOLT SHOWN
rad. 14" — =G @\ *
AR
A s
| Mortise 1/8" Mortise
100 63/s"
g 8 il
: 1l
- -] IJI
® ® 4 In_l '
! 1
. 1 1/4" : ______ : L DO 1/8" Mortise
Lu -] : : =5
114"
7[g" 210" 19016" | 19)16"
3[50" e ! {J I
T D R DD Ut K|
* /:':':':':':':'t':'i'i':':' ®j T
S T 134" J M- —® — SN | 1" Mortise
48 .kf?ﬁ:?::'1111:1:1:1:1: ¥ / L . *
< ........ | /{____ .............................. aNIDEDDE g |_‘|/4||
——{ (= 3[4"Backset
Active Door Strike
(two) #8 x 34" 6 116" Mortise Bottom Bolt Head Guide
All Purpose Screws 5 (three) #10 x 1"
8" Sheet Metal S
Frame & Sill Strike eet Metatscrews
(two) #8 x 34" All - Stop on Frame
Purpose Screws
with Rawl Plugs S|
— % LJ ®___ JE—
| 15/ _ —={=—1[20" Mortise
21)" ] I NOT TO SCALE
ROCKWOOD A T Mortise
Page 2 of 2

Rockwood Manufacturing Company

Rockwood, Pennsylvania 15557

Phone: (800) 458-2424 « Fax: (800) 922-9212
www.rockwoodmfg.com ¢ RockwoodOrders@assaabloy.com

Copyright © 2015, Rockwood Manufacturing Company, an ASSA ABLOY Group company. All rights reserved.
Reproduction in whole or in part without the express written permission of Rockwood Manufacturing Company is prohibited.

T-2945 CFB - 7/15



